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The compound interest on a certain sum for 2 years at 10% per annum is Rs. 525. The

simple interest on the same sum for double the time at half the rate percent per annum
is:

uh Ffdre wivr w2 |re & 77U 10% 9ia aw it o% & Tshafg a1 6. 525 % . 66 THT W
TN WA o 70 ek SATS GX ok ST TT9Td U ATERUT 4T &
A) 400 B)500 C)600 D)800
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An amount of money at compound interest grows up to Rs.3,840 in 4 years and up to
Rs.3,936 in 5 years. Find the rate of interest.
ATHATG SATS UX Ueh I 4 ATA W T@HN 3,840 TUY 3T 5 AT W 3,936 U T AT 2

ST X 7T hiT0)
(2) 2.5% (b) 2% () 3.5% (d) 2.05%
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What sum will give Rs.244 as the difference between simple interest and compound

interest at 10% p.a. at in 1.5 years compounded half yearly?

10% <hT X T 1.5 9TeT | TLAAT R TT T HATTT T TR Teha=T TIT 5.244 TTLROT AT
IR TATHATG AT oh ST AT T2
(2) Rs.40,000 (b) Rs.36,000 (¢) Rs.32,000 (d) Rs.28,000
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The compound interest on Rs.4000 for 4 years at 10% per annum will be?

4000 TUI T 10% Tt TN hT TTH 4 T KT Akl log, SATH ST
(a) Rs.1856.40 (b) Rs.1600 (c) Rs.1856 (d) Rs.1756.60
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If the difference of the compound interest and the simple interest on a sum of money

for 3 years is Rs.186. Find the sum of money, if the rate of interest in both case be 10%.

afe 3 a9 o ToTg Tt TSt ux Trshafeg SaTST 311X ATEIRUT SATT T 3iaR 186 T9 §1 AfS ST

Reerfa=rt o SaTsT AT & 10% 2, a7 AT [1d ShifaTu)
(a) Rs.5500 (b) Rs.7200 (¢) Rs.6500 (d) Rs.6000
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If the compound interest for the 3" and 4™ year on a certain principal is Rs125 and

Rs135 respectively, what is the rate of interest (in %)?

At FoRE AeTer Ux daY 3T SiTe) oY ohT TIshal (g, SATS SHATT: 125 $U 3 135 FUA §, A
TS hl &X (%% W) TIT 82

(a9 R (©8 (d) 12
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If in 2 years at simple interest the principal increases by 16%, what will be the

compound interest earned (in Rs) on Rs25,000 in 2 years at the same rate?
Ffg 2 Tt § FTLROT ST U TALH H 16% 6T Jeg T &, 1 0 A 2 90 H 25,000
FU U ST AshTeg ST (FU W) T TN

(a) 4000 (b) 2160 (c) 2000 (d) 4160
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In how many years will Rs 2,000 yield Rs 662 as compound interest at 10% per
annum compounded annually?

HTATT Ashdlfeg W AT S FC 10% Tfa a9 ATk Tshd (g ST hl X F 2,000 & A
fora awt W 662 TUT fHeT?
(2)3
(b) 2
OF:
(d)5




If the difference between simple and compound interest for 3 years
on a sum given at 5% per annum is 1220, then find the sum.

T 5 % U W T S H 3 TW o 0 ATARUT 7R Ashalfg ST oh del T A E 1220 7, AT
TTTOT ST ShT Tt |
1.125000 2.150000 3.175000 4.160000




If Rs.3000 amounts to Rs.3600 at compound interest In
certain time, then Rs.3000 amounts to what in double of

the time?
i3 T2 T0a 7 3,000 T kT GAT9T TAshalteg AT | 3600 T & AT 2, T

3000 I H FHk ZN T THT H TTH EATIVT FAT Z0IT 2
1.4200 2.4320 3.4260 4.4750
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The simple interest accrued on a sum of certain principal is Rs. 7,200 in six years at the

rate of 12% per annum. What would be the compound interest accrued on that

principal at the rate of 20% per annum in 2 years?
T [Ty gerem W 12% Tt WA B: T KT ATYROT AT 7,200 T gl SHT Toread W
20% TTH T 2 T T Achelleg, SATS T ZRIT?

A) Rs. 1,020 B) Rs. 1,055 C) Rs. 1,050 D) Rs. 1,025
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A certain amount of money at compound interest grows to 75205 in 3 years and

82725.5 in 4 years. The rate percent per annum is:

ATHATeg, SATST UX Teh I TIST 3 ATA | 75205 SR 4 AT § 82725.5 T AT & ATaa™

ST ohl 2T TTA9Td 2-
1)10% 2)5% 3)9% H11%




A certain sum of money becomes Rs.54000 in 4 years and it becomes

Rs.65340 in 6 years. Find the rate of interest, if compounded annually.
Tk FAfEra T 4 ot 7 54000 T S § 3R 6 AW H 65340 T ATAT & AT AshaTeg, TS

TR GAITT &1 aF ST & AT hITTU |
1) 5% 2) 10% 3) 12%
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If a certain sum of money becomes Rs.6000 in 2 years and Rs.9000 in 4

yvears. Find the principal.

ferelt FT2ra Trshateg SaTST hl G W Ueh TSI LFRTIST 2 99 | 6000 BT STl § 37 4

AT T 9000 T AT § AT AL AT HITAT |
1. 5000 2. 4000 3.3000 4. 4500
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A loan is to be returned in two equal yearly installments. If the rate of interest is 10%

p.-a., compounded annually and each installment is Rs. 6534, then the total interest

charged (in Rs) is:
Uk HUT &1 THT 11Nk fehEd | arae foram AT 31 afe sarst h 2 10% a1fver 2, o

ATTh &Y | FATa fohaT SITaT § 3R T forea &. 6534 7, @t foran man et sars (v
ﬁ‘)%:

(a)1728 (b)1867 (c)1642 (d)1579




A loan of Rs 2550 is to be paid back in two equal half - yearly

Instaliments . How much Is each instaliment If the interest s
compounded half - yearly at 8% p.a.?

2550 F. <hT Ueh &ITT9T 2T THTT 378 ATk [ehIdl H JT9H =Tk = STt & Uik Thod fehai
2 I= AT 8§ Y% 372 JTiuh umo{tﬁg ST | TATAd 2ldT & 2

1. 1352 2. 1250 3. 1350 4. 1275 p
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A sum of money is paid back in two annual installments of Rs.17,640 each, allowing 5%

compound interest compounded annually. The sum borrowed was

17,640 T e <hl 31 ATTAh ToREat H Teh TN T YA TRAT ATAT &, FTHH 5% ATfeh
TAShATeg, SATS hl STTATA BT Bl IR oY T3 T oft

(a) Rs.32,800 (b) Rs.32,200 (c) Rs.32,000 (d) Rs.32,400
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Surekha borrowed a sum of money and returned it in two equal annual instalments of Rs

5,547 each. If the rate of interest was 7.5 % p.a. compounded yearly, then the total

interest paid by her was:

T A Teh AT YR AT 3T I 5,547 GG Y ¥ T AT(ek Rl H AT96 T 52T At
SATST <Al & 7.5% p.a. TNk & W GATNT T &, AT I8eh FRT WITAT TehalT AT Shet ST
AT

(a) Rs 1,144 (b) Rs 1,134 (¢) Rs 1,096 (d) Rs 1,126




A man borrows Rs. 1820 and undertakes to pay back with compound interest at
rate of 20% p.a. in 3 equal yearly installments at the end of first, second and third

years. What is the amount of each instaliment.
Ueh STTEHT 9 & 1820 3R ToT0 311 Ugel , 8N 7R o8 a9 o 3d | 3 il aiven fehval 0

20% STshdlfg ST & H ATUH HITAT hi- T (HUTT hAT | Tedeh TRy okl T19T AT 82
1. 784 Ry 3. 852 4. 864




A man borrows Rs. 7620 and undertakes to pay back with compound interest at

rate of 16.66% p.a. in 3 equal yearly instaliments at the end of first, second and
third years. What is the amount of each instaliment.

Ueh SATSHT SO ST AT 81 7620 AR Ashel (g AT ok AT 16.66% p.a hi T H ATUH
YITATA h{ T e 5T 2| Wﬁiﬂiwaﬁ@{aﬁ% 37 U 3 UHTT Tk Thydl H| Ucdieh
feRod <hT TI9T T 2

1.2414 2. 3430 3. 2430 4, 3230







